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2. sin 0° X cos 60° + cos 0° X tan 45° — sin 45° X tan 60° =7
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sin 0° X cos 60° + cos 0° X tan 45° — sin 45° X tan 60°
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S X cosx = 0.7193 & W=E5h= x of] ot tan x 9] 4527

AL
oo
B

Zte sin cos tan

44’ 1 0.6947 | 0.7193 | 0.9657
45° | 0,7071  0,7071 | 1,0000
46° | 0.7193 | 0.6947 | 1.0355
47" 0,7314 | 0,6820 | 1,0724

@0.9657 @ 1.0000 ® 1.0355
@ 1.0724 ® 1.9657

cos44° = 0.7193
L x=44°
w2hA] tan 44 ° = 0.9657 O]},
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(¥°]) = 10sin 62° = 10 x 0.8829 = 8.8 (m)
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6. TFS 120 A] AAEF 9] S8 Zo]=?

@6+2\/5 @ 5+2vV5
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AE = V22 + 22 + 22 + 2% = 4,
AF = VE2+22=2+5
wt2bA] AAEF O] 818 758 4+ 2 +2V5 =6+ 2 V50t
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th& 1o A AHLBC, /BAC = 90°
A o, cosx +siny 9] & Fsto=t
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BC = V62 +82 =10
(ABH=y, /ACH=x

AABC o4
cosx—E—i—z—lsin —E
B¢ 10 5™ TBC
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14. A+B=90° (%, A>0°B>0°)< o, ot
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@SinA xXcosB=1

o

< &7

52
rlo
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sin A
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® tanA

P

rlo

A 4
B =
90°

o] =
=

b
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16. th2 I3 A AABE = AECD , AAED = %cm‘z 0], TD = 3cm

91 W) DABCD 9] {olE Fajoiat

A
D
\
3cm
/
B E C
> = cm?
> mE 19 cm?
5 -
AE =ED°|E &
1 — — 1— 25
AAED—§><AE><ED—§AE =5

AE =ED = 5cm
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24.

sinA:cosA=4:5%Y 1 tan A 9 ZF&?

V2 @§ 4
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sinA :cosA=4:59E22 5sinA = 4cos A |},

L feosA 2 Lprw A _ 4o
cosA 5

webA tan A = ‘g* olt}.




25.

[ 2
> = 6.99m
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-3 m- -~
2 ()

(2] Fol)=

3 x tan 61° + 3 X tan 28° = 5.4 4+ 1.59 = 6.99(
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